N\nndm& 30* March 2020

YearS: sz& Skills

LL To write a Pznsuazsivz auﬂwmznt

Debate Tnpic: Animals should be Jezpt in zZoos.

Y ou are to read the ,Fullﬂwinq possage and choose MOMY oM I /st,an,d.pnint whether MOM ore ,Fﬂr
or a.qaimst animals bzin,q Jaz.pt in zoos. Rzmzmbzrinq that FOR means MOM 04128 and

AGAINST means MOM dizsaqrzz.

The animals that we see in zoos are wild animals. They were created to live in wild, natural places. In these wild
places there is lots of space for an animal to hunt and live naturally. A famous wild animal is the tiger. In Russia, a
tiger lives in a space that is about 80 miles by 80 miles or 640 square miles. Now put that tiger in a cage that is 30
feet by 30 feet. How do you think he feels? That is one very good reason why tigers should not be in zoos.

It is not just about tigers, though. Many other animals in zoos live in very small spaces compared to the space that
they have in the wild. This can make the animal stressed and unhappy. It is not just about space. Zoo animals
often cannot behave naturally. How can a tiger hunt its prey in a zoo? If you were not allowed to do the things you
like to do for the rest of your life how would you feel?

Remember to:
Include a pawzr@ul and attzntinn—qrabbinq introduction
Use emotive la.nquaqz
Address the reader
Include evidence and statistics that hack up Mour mqumznt

Sum Mp Mour mqumznt in Mour conclusion

Key words and phrases to include:

in addition outrageons without a doubt to conclude

Furthzrmu:z /surzh‘ inhumane LONARINE
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Tuzzsdmé 31 March 2020

Y earS : KBA;]'. Skills

N\ultiplicatinn and Division

Camplztz the circle b% multipwin,{} the number in the centre bkz} the middle rian to x}zt

the outer numbers. o /find the mi/s/sian middle rian rumhber MOM wilk need to divide

the outer finx} numhber bkz} the number in the centre.
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Wedne/sdmﬁ, | < April 2020

Y earS : KzAﬁ, Skills

LI To use the pa/st tense

Y oM Won a trip g/y a li&ztimz fo 9.0 to the Commonwealth mf Dominical U/sinq the
Pidur,e/s write a letter to MOALS feacher tz“inq them zwzr)\jthin,ad MO M have done.

Frnseure MOM M2 fhe Pa,st tense as well as ad&thiNz/s.
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Thumdmﬁ, 24 Aprll 2020

Y earS : Kz;ua, Skills

LL To .cal,.athzr relevant ln,vﬂormati,on ,vﬁr,om a fext

Retrieving Information

0 k ; 1) What word does the poet
H i ' use as a synonym for
I - ‘hole’?

g ! 2) The poet uses the word
In my head’s a journey that only I can take, il ‘mind’ in different ways so
: that it has different
meanings. Give two
examples from the poem.

there is no one else can ever read my mind.
I must tread carefully, for all the thoughts I make

must be mine alone, not lost upon the wind.
Making Inferences

Inside are paths and mazes. 3) Do you think the poet is a

' young person or an older
person? Explain why using
evidence from the text.
A wave, a storm, a breeze. Why do you think the poet
wants their thoughts to “be
mine alone”™?

There are caverns, pits and keys.

There are wolves and saints and crazes.

There are patterns, wonder, colours.

Music, thunder, voices. - Challenge question

My mind is like no other’s — 5) Do you think the poet’s

Only I can make my choices. '\ mind is a happy, sad or

angry place? Support your
answer with examples from

Mind out, that is, if you don’t mind,
the text.

[ must be gentle, treat it kind.
Your mind is your own, I think you’ll find.

One day [ hope to know my own mind.
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Frldmﬁ, 3 April 2020

Y ear S szaj, Skills

Mixed and Impmrpzr Fr,a,ctinms

Convent these mixed numher chtin.n/s ko improper /Fm.cti,o.n/s:

A
4

Convert Mixed Numbers to
Improper Fractions

2 FIRST multiply denominator How many thirds are
by the whole number in the whole number?

g 3x4=12 00

NEXT add the product PLUS how many thirds
to the numerator are in the fraction?

2 12 + 2 = 14 TOTALTHIRDS=§

< 14
3 P =

LAST The sumis the numerator 3
commane reskEEP.IDE S9Me, denominator’
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